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QUESTION 1

A service must be available 24x7. It also requires 99.999% availability. How much total downtime can the service
tolerate in one year?

A. About 5 seconds
B. About 5 minutes
C. About 50 minutes
D. About 5 hours

Correct Answer: B

QUESTION 2

Data center includes services within the same VLAN and subnet that communicate with each other multicast
application. Variable Internet Group Management Protocol (IGMP) on this VLAN on data center switches?

A. To enforce security boundaries between servers assigned to different multicast groups
B. To eliminate multicast traffic on server ports that have not requested the multicasts

C. To ensure that different applications do not use overlapping multicasts addresses

D. To enable the servers to hear each other\\'s multicast transmission

Correct Answer: B

QUESTION 3

A network architect is working with a customer to implement a new network design. The network architect has learned
that the company has a legacy application hosted on a number of legacy servers. The legacy application must remain
intact and after the new network implementation. As the company plans to continue using it indefinitely.

With which stakeholder should the network architect discuss the technical detail of the legacy system and any
challenges or specifics about maintaining interoperability?

A. Chief Executive officer (CEO)

B. Network Architect or Planning Engineer

C. Chief Information Officer (CIO) or Voice President (VP)/ Director of IT

D. Chief Financial Officer (CFO) or Voice President (VP)/ Director of Finance

Correct Answer: B
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QUESTION 4

The customer has a virtualized data center. The virtual hosts use virtual distributed switches with multiple redundant
uplinks and these update control Protocol (LACP).

Which technology available in HP switches enhances high availability in this environment?

A. Fiber Channel over Ethernet (FCoE) allows the virtual host to send storage traffic over the server Ethernet uplinks if
the FC connection.

B. Virtual Ethernet Port Aggregator (VEPA) combines redundant server talks into a single high-bandwidth trunk.
C. Intelligent Resilient Framework (IRF) allows redundant server links to connect to different physical switches.
D. Net Stream and sFlow technologies provide the built-in capability to optimize bandwidth flows dynamically.

Correct Answer: C

QUESTION 5

A network architect is planning a complete access layer and core upgrade for customer\\'s campus LAN. The campus
has four large buildings, each requiring between 1000 and 3000 edge ports. Which factor will play a primary role in
determining whether the network architect needs to plan a two-tier or three-tier topology for the campus LAN?

A. The number of fiber links between each building and the building where the core switches reside

B. Whether the customer requires a wireless solution

C. The high number of edge ports that the solution requires

D. Whether the customer can afford core switches that support intelligent Resilient Framework (IRF)

Correct Answer: C
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